o H BB INAF TiREM A S D

s m AN # . - T
# B m [o—F| E | a5 F & HE R B RO
100m 469 0 19 450 |50—0+24| 3—2+2 8 £
200m 374 3 14 363 |41—0+24| 3—2+2 8 £
400m 272 0 15 257 |29—0+24| 3—2+2 8 £
800m 265 2 6 261 |20—0+24| 3—2+2 8 £
1500m 307 2 14 295 |14—0+15| ——— 15 4
5000m 181 6 10 177 |5H54 LRk 177 %
110mH 55 4 3 56 7—34+3 | 3—2+2 8 %
400mH 82 2 2 82 | 10—2+4 | 3—2+2 8 £
3000mSC 83 3 3 83 5—2+5 - 15 £
5 5000mW | 22 2 0 24 24 %
g 4 X 100mR 137 0 6 131 [15—0+24| 3—2+2 8 F—L
# | 4Xx400mR 113 0 4 109 [183—1+11| 3—2+2 8 F—L
E Bk 53 5 3 55 248 —— 12 2L E
ek 19 0 0 19 19 &
ENE Bk 196 6 5 197 448 _— 12 %L E
=Bk 78 6 8 76 2%8 — 12 B E
fariz 70 1 3 68 248 —— 12 2L E
A% 61 3 3 61 2%8 _ 12 B E
AVESE 1 29 2 0 31 31 &
1% 69 0 0 69 2%8 _ 12 B E
R (8) 20 0 0 20 348
100m 323 3 21 305 |34—0+24| 3—2+2 8 £
200m 228 2 14 216 |24—0+24| 3—2+2 8 £
400m 119 3 5 117 [183—0+24| 3—2+2 8 £
800m 169 3 11 161 [183—0+24| 3—2+2 8 £
1500m 168 1 8 161 | 8—0+15 | —— 15 4
3000m 80 3 3 80 |3fARALiREE 80 #
100mH 82 2 1 83 | 10—2+4 | 3—2+2 8 £
400mH 49 4 0 53 6—3+6 | 3—2+2 8 £
% 5000mW 11 1 0 12 12 4
F | 4x100mR 107 0 5 102 [12—0+24| 3—2+2 8 F—L
f.? 4 x 400mR 78 0 2 76 | 9—14+15| 3—2+2 8 F—L
ab E=pk | 49 | 5 2 | 52 24A N 12 Z LI E
ek 12 0 0 12 12 &
ENE Bk 136 5 9 132 348 _— 12 %L E
=Bk 40 3 3 40 R4 — 40 %
fariz 49 3 1 51 248 —— 12 2L E
A% 63 1 3 61 2%8 _ 12 B E
NoI—% 30 0 0 30 30 &
1% 44 2 1 45 45 £
EAL(T) 15 1 0 16 248 — —




